Film-Tech

The information contained in this Adobe Acrobat pdf
file is provided at your own risk and good judgment.

These manuals are designed to facilitate the
exchange of information related to cinema
projection and film handling, with no warranties nor
obligations from the authors, for qualified field
service engineers.

If you are not a qualified technician, please make no
adjuatments to anything you may read about in these
Adobe manual downloads

www.Film-tech.com



Al-X, Al, A2-X,
A2, A4-X, AND A4

R LANSIN G . LOUDSPEAKER SVSTEMLS

ASSEMBLY INSTRUCTIONS

ALFT BN SELD, 0250 LALT (RIS
<20 CHCLE NS USE 303/ 82 247

TS 2 EEDD.

gl : : Figure ]

" A. INTRODUCTION.

"The Voice of the Theatre"® speaker systems by Altec Lansing
are used in more than 12,000 motion picture theatres, audi-
toriums, arenas, and other SoUnd reinforcement installations
throughout the world .  An impaortant component ofve @ ch such
system is the Altec Iow-frequency horn.

These large low frequency horns ensure proper loading that
cffects excellent air couplingand enhances the performance of
the low-frgguency loudspeakers. Exponential expansion,
atigl phased with the high~frequency horn, assists
y:of the importaht mid-range frequencies.

coverage ;3 Th
form resporﬁe

Bion of any |rregu|or|t|es assures a uni-
Jispersion angle of the horn, “a factor

N LANSING:

A Division of &7 Ling Altec, Inc.

Specifications and components aulfject to change without
notice. Overall performance will be maintained or improved.

1515 S..Manchester Ave., Anaheim, Ca.lvif, 92803

WIN G

/30276 FART

Front View of Al-X or Al System

essential in the calculation of sound systems. The combination
bass reflex/front loaded design prevents the boom and false
accentuation often associated with public address systems that
use other types of enclosures, reduces the amplitude of cone
movement at resonant frequencies, and allows higher power in~
put without distortion. The efficient use of the lower end of *
the sound spectrum contributes to the illusion of loudness and
presence required t6 distinguish "The Voice of the Tbectre"
system from ordinary loudspeaker systems.

The exponential multicellular horns that are used in "The Voice -
of the Theatre" systems are the most efficient of all projectors
fordelivering top quality sound uniformly over adefined listen-
ing area. The unique excellence of the multicellular horn re-
sults fromits distinctive design. Altec multicellular horns will
accommodate d§ many as four drivers of the 288-type-for indoor
use, and were developed by the Bell Telephone Laboratories
out of anecessity toensure the success of early talkingpictures .

30693-01
Litho in USA

Price $0.28
LTV-58-1K

New York




B. PARTS LIST
SYSTEM HF DRIVERS HF HORN THROAT LF DRIVERS LF HORN NETWORK
Al-X 4 - 288C 18048, 2 - 30170 6 - 5158 610 N500-C
or 1504B, 2 - 30170
or 10048 2 - 30170
Al 2 - 288C 15058, 1 - 30172 6 -~ 5158 610 N500-C
or 10058 1 - 30210
A2-X 4 - 288C 1804B, 2 - 30170 4 - 5158 410 N500-C
or 15048, 2 - 30170
or 1004B 2 - 30170
A2 2 - 288C 15058, 1 - 30172 4 - 5158 410 N500-C
or 1005B 1 - 30210
A4-X 2 - 288C 15058, 1 - 30172 2 - 5158 210 N500-C
or 10058 1 - 30210
A4 1 - 288C 15058, 1 - 30166 2 - 5158 210 N500-C
or 10058, 1 -~ 30170
or 804B, 1 - 30172
or B805B, 30162
A5-X 1 - 288C 15058, 1 - 30166 1 - 5158 825 N500-C
or 10058, 1 - 30210
or 805B 1 - 30162
NOTES: 1. The 288C HF drivers are 40-watt, 500 to 16,000 Hz, 24-ohm types.
2. The HF horns are multicellular types with acutoff frequency of 400 Hz in the Al~X and A2-X systems, and
500 Hz in the A1, A2, A4-X, A4, and A5-X systems.
3. The 515B LF drivers are 50-watt peak, 20 to 1000 Hz, 16-ohm loudspeaker types.
4. One l6-inch shielded cable, part number 30285, is provided with the A1, A2, and A4-X systems; two with
the A1-X and A2-X systems.
5. Two 15-foot lengths of No. 16 stranded cellac wire (one red, one green) are provided with the A2, A4-X
and A4 systems; two 20-foot lengths with the A1-X, Al, and A2-X systems.
6. One Jones terminal strip No. 4-142-W is provided with the A4-X and A4 systems; two with the A2-X and
A2 systems; and three with the Al-X and Al systems.
7. Onespecial adapter, part number 30296, is provided with the A1-X systems for coupling the four HF drivers
to the HF horn.
C. MECHANICAL ASSEMBLY 7. Securewings to cabinet using six 1/4" x 2-3/4" carri-

1. Place the cabinet(s), part number9s) 30275, intheir
ultimate operating position. (See Figures 1, 3, and 5).

2.

net.

Remove wooden shippingslats from corners of each cabi-

3. Remove wooden shipping braces from wings and braces,
assembly number 30276.

4, Remove rear panel from each cabinet.
CAUTION
In the following steps, when attaching one
part to another, be sure to tighten the bolts
securely to prevent vibration.
5. Secure each cabinet together using 1/4" x 2" and 1/4"

x 5-1/2" carriage bolts in the front as shown in Figures 1, 3,
and 5.

6. Secure each cabinet together at the rear as shown in
Figures 2, 4, and 6 using 1/4" x 2" carriage bolts. The rear
panel was removed in step 4 to provide access for securing
these bolts.

age bolts and two 1/4" x 4-1/2" carriage bolts as shown in
Figures 2, 4, and 6. Insert carriage bolts frominside the cabi-
net(s) through pre-drilled holes shown in Figures 2, 4, and 6.

8. Secure wing brace to a wing using a 1/4" x 3-1/2"
carriage bolt. Perform this step and the next successively for
each wing brace.

9. Secure wing brace to cabinet usinga 1/4" x 3" carriage
bolt. The rear panel was removed in step 4 to provide access
for securing these bolts.

NOTE .
In the following steps, whenmountinga throat
with a male fitting to a Model 288C driver,
a 0.02" thick gasket, part number 20466, must
be inserted between throat and driver. These
gaskets are supplied with each throat and
driver.
When mounting a throat with a flush face to
a Model 288C driver, a 0.125" thick gasket,
part number 21270, must be inserted between
throat and driver. These gaskets are also sup-
plied with each throat and driver.
Be sure to use the correct gaskets for proper
operation of the loudspeaker system.



F x2E casences

WING BACE L LEPD,
27 FRET

Fx 3% Creonee
&XTS + EED O\

..
]
J/

FExEF aeomnsE
BUTS DD,

REAR [PANELS

F X3 CaseiaGE

BXTS 2 ERDO

Figure 2. Rear View of A1-X or Al System

10. On Al-X and A2-X systems assemble two 288C HF
drivers to each Model 30170 throat.

11. On Al, A2, and A4-X systems if Model 15058 multi-
cellular horn is being installed, assemble the 288C HF drivers
to Model 30172 throat; if Model 1005B horn is being installed,
assemble the 288C HF drivers to Model 30210 throat .

12, On A4 systems, if Model 1505B multicellular horn is
being installed, assemble the 288C HF driver to Model 30166
throat; if Model 1005B horn is being installed, assemble the
288C HF driver to Model 30162 throat .

13. On Al-X and A2-X systems, assemble high-frequency
multicellular horn to the two throat-driver assemblies, through
the special intermediate throat adapter, part number 30296,
then mount high-frequency horn and driver assembly on horn
sled, part number 30280, using 1/4" x 1-1/4" carriage bolts,
before mounting sled on top of cabinet.

14. On Al, A2, A4-X and Ad systems mount the high-
frequency horn-driver assembly on horn sled, part number
30280, using 1/4" x 1-1/4" carriage bolts, before mounting
sled on top of cabinet.

NOTE

Until the proper position of the HF hornin re-
lation to the LF speakers for correct phasing
has been determined, it is best that the horn
sled not be secured to the cabinet. Once
the proper position has been determined
through tests, then fasten the horn sled with
four 1-1/2" No. 10 wood screws.

15. Find the 1/2" pre-drilled hole located 4" from the rear
and 38" from the top of the cabinet on the right-hand panel .
Then, mount Jones terminal strip(s) (No. 4-142-W) approxi-
mately two inches below the 1/2" pre-drilled hole and three
inches from rear edge of cabinet; when more than one is used,
mount the Jones terminal strips adjacent to one another using
wood screws, 1/4" No. 20, supplied with each terminal strip.

16.  Mount Model N500-C dividing network approximately
four inches below the Jones terminal strip(s) and three inches
from rear edge of cabinet; use 1/4" x 1-1/4" carriage bolts.
(Four 1/4" holes will have to be drilled to accommodate the
network; use the network as a template for locating the mount-
ing holes before drilling.)

17. Install the two Model 515B LF speakers from rear of
baffle board in each cabinet, located inside cabinet, using
four 1/4" No. 20 filister head screws for each speaker .

CAUTION

Do not overtighten mounting screws. Screws
should be tightened just enough so there are
no air leaks around the speaker flanges. They
should not be tightened with such force that
the speaker frames are forced out of align-
ment. Tighten the screws evenly, a little at
a time, moving around the circle as many
times as necessary.



AL HORN SLED, 3O0EE0
ARLT (FAE FOO CreiL
HOENS USE .x\,we Re7)

/
ST AT LD

WING

38276 PART

B

ExZ Coecroce Bers
R <= 375)
4 x SZE CaeracE B s 1 EEG0.

_—

Figure 3. Front View of A2-X or A2 System

[PEAR PANELS

72l creenee Bocrs

& &LRD. / "

[ x3f 'éfpemz;ﬁaag
Y Lion,

Fv Licnepstcsfocs
2 8250.

4T (HeeineeBocrs
L LERD.

Figure 4. Rear View A2-X or A2 System



~MOUNT H A HORN ON SLEO
WITH § x/j CABC/ACL BOLTS
BEFORE MOUNTIME SLED
TO TOP OF LK MORA

WING
30276 PART

Figure 5. Front View A4-X or A4 System

#=2] cacpraer aar
T serg

WING BRACE-4 PEQ / /I

30274 AeeT

o

"

/’ \l' - . FEAR PANEL

. .

|
\II~

J N

K’-L CAY, y . \\.‘
it éce. S N N\ F=S caporace
« oxp.

3~4f caoeince BoT
y P

Figure 6. Rear View A4-X or A4 System



D. ELECTRICAL CONNECTIONS

Connect the HF drivers, LF speakers, and dividing network ex-
actly as shown in Figures 7 through 12 for the Loudspeaker
Systems as applicable. Exact connections are important for the
proper electrical phasing of the speakers.

Secure wires from HF drivers to the cabinet at 6~inch intervals
withinsulated staples. When wiring the Model 5158 LF speakers,

10285 -
SHIELDED CABLE

run wires from speakers to Jones terminal strip out through the
1/2" pre-drilled hole in the right side of the cabinet(s). Use
electrical tape to wrap speaker wires at 3-inch intervalsinside
the cabinet(s). Connect wires from program source to N500-C
dividing network; one wire to the INPUT terminal, the other
wire toone of the COMMON terminals. Replace rear panel(s)
to cabinet(s) and perform system test to determine proper location
of HF horn, which must be secured. (Reference paragraph C,
step 14.)

Lif 288 (L2

N1

C ~\, 30285
ST CABLE, SHILL DED

288 LM?-

LF ¢| IHF
N-5QC-C
NETWORK
| C
Figure 7. Al-X Wiring Diagram
30z8%
CAB\LE, SHIELDED
L (288 \ia L) /288 N1z
Z-S?LIC-E_
LF |V HF
¢
N-So0-C
NETWORK,

Figure 8. Al Wiring Diagram



L'\ZBOILL L\@F—l

30288 P =4 zoes
SHIELDHO CABLE < V_\\PEA&LE' SHIELOE 0
L1} 2188, Ly Ly YA L

{4~
HNSOOC [,
= INPUT
Le| NETWORK | NPT,
c
Figure 9. A2-X Wiring Diagram
20285
| CABLE, SHIELOED
&
L) 258 L u 2B L2
\
_{wr
¢l NSOOC
o
NETWORX]| INPUT
LF I
e

Figure 10. A2 Wiring Diagram




L1

288

30285
rL CABLE, SHIELOED

288
Lo ez

C LF ¢ HF
NSooC
NETWORK
D e ne
INPUT
et C
Figﬁre 11. A4-X Wiring Diqgrom
LT L2
(o
288
GREEN RED
3%
S\ _RED | [GREEN ’
L2 L1 L2
LF C C HF
N-500-C
. NETWORK
INPUT ¢
—~——————

395

Figure 12. A4:‘Wirfng Diagrdm

Tyl



